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B
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TR
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TR
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TR

Huf& T ¢ 100mm A2-2 i T 8 8
B

Huf & T ¢ 100nm A2-4 (20 1 1
TR

i T ¢ 100mm A2-8 (=0 1 1
TR
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(=223
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(oges

HufE T ¢ 100mm B2-4 &P 3 3
(oges

HufE T ¢ 100mm C2-3 (=10 1 1
(oges

HufE T ¢ 100mm DI1-2 (=10 2 2
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BAHE T ¢ 100mm D2-3 fEAT 1 1
(oges
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(oges

Wi T ¢ 100mm D2-5 [0 1 1
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As/Con
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SHEERR As+Con
EHIREIAGA T t=10cmlL T nt —
Al dERR As+Con Ashit 50.40
ECHER IR A T t=10cmPL T ot 110.08 110 |ConfiR 59.68
LR As+Con AshfiT 14.40
E R I AEHA T t=10cmL T nf 14.40 14
SRR As-Con
EER DA T t=10cmlL T nt —
BHEERR As+Con
BB A T 10cm<t=15cm of —
SRR As+Con
ELPEHR I RA T 10cm<t=15cm of —
BHEERR As+Con
BB A T 10cm<t=15cm of —
RS As+Con
BRI RA T 10cm<t=15cm of —
As/Con
SliE A AT T 15cm<t<30cm of —
As/Con
SRR T 15cm <t <40cm of —
As/Con
Sl A A T 15cm <t <40cm of —
As/Con
SEE R A AR T 15cm <t <40cm of —
HE B I T m® —
HE AR A T m’ 153.90 150
HE A A T m’ 85.50 90
BB I T m® —
BRI R T bl m® —
R T i m’ 104.10 100
LR T WA m’ 46.80 50
B 5 T i Waz I m® —
B R T BAERA m? —
BRI R T AL m’ 14.40 10
HEMI R T HAERA m? —
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ALY T m’ 7.98 8 Confif 5.97

AsH/Consfl Ashiit 1.44
FESRALSS T m’ 1.44 1

AsH/Con3i
Sy T m® —

Ashi 3.45
AR M AL AsB/Condifl m’ 9.42 9 |Conlk 5.97
it A 5 (R ) m’ 115.67 120 | 104.10 / 0.9
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it s (8% m’ 52.00 50
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it L (%) m®
it A e () m®
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FR A RDA L m —
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LR E TR LT b -
ey kg ran m® -
TR ALy t -
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BEE e =— 1 SN g A -
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WES ke =— L TL—r TR i —
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BEE e =— = L85 1 A -
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gL =— L5 FL—r xR 7N -
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EE e =— L SPN g A -
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gL =— L5 L —r TR S —
= A
< R VHEE T ¢ 150 Al LT (& 8 8
= A
<~ R— LR FET ¢ 250 Al LT &l —
= N
~ L R— LR FET $ 300 Al LT (& —
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b FERE T m® —
W RLMET m’ 32.18 30
WA T m’ 15.35 20
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REET Ty 300mm 1A 1
REET Ty 450mm 1 4
REET Ty 600mm ] -

EEET 0wy 300mm 1A —

EEET vy 600mm 1@ 1
EEET Ty 900mm 1A —

EEET vy 1200mm 1A —

EEET vy 1500mm 1A —

EEET vy 1800mm 1A -

A= 600mm 1A —

A= 900mm 1A 4
A= 1200mm 1A —

A= 1500mm 1A —

A= 1800mm 1A 1
T 2y h=130mm 1@ 5
HIFL T ¢ 300mm f& DT -

HIFL T ¢ 150mm & AT 3
HIFLT ¢ 200mm & AT —
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ERTR
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ERTR
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R
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R
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BB
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AR
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HLIE R

LR T t=10cm BEHEZELE ot —
AR

E AT t=10cm M—30 ot —
AR

ERAET t=13cm M—30 ot —
HLIE R
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TGk & T 278 SE N (532 2 2
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XAEBUS L 90° MLV f&ipr 7 7
wE

HuftE T ¢ 100mm Al-1 f&i T 1 1
BE

Huft e T ¢ 100mm Al-2 & T 4 4
wE

A T ¢ 100mm A2-1 f& BT - -
wE

Wt T ¢ 100mm A2-2 f&i T 2 2
wE

i T ¢ 100mm A2-4 f& BT - -
B

I T ¢ 100mm A2-8 £ T - -
wE

i T ¢ 100mm B1-3 (T - -
wE

Huft i T ¢ 100mm B1-4 fai T 1 1
we

A T ¢ 100mm B2-4 T4 A - -
R

A T ¢ 100mm Cc2-3 [ER - -
we

A T ¢ 100mm D1-2 T4 A - -
we

A T ¢ 100mm D1-4 T4 A - -
we

A T ¢ 100mm D2-2 [ERE - -
B

B T ¢ 100mm D2-3 & ET - -
wE
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ERes

A T ¢ 100mm D2-5 [ERE - -
weE
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LR DT T

401.40

29.40

746.20

47.00

1224.00

279.00

279.00

AL DT T

BLERR
ELRERHI LA T

150
HLHEHTHIBGA T

130.05

18.32

148.37

110.08

110.08

150
HLHEHTHIGA T

271.32

14.70

205.74

491.76

14.40

14.40

BERR
ELEARHI A T

BLERR
ELREARHI A T

S
LA HIRA T

BiLERR
ELEARHI A T

BLERR
ELEHRHI A T

SRR T

SRS T

SRS T

SRR T

BEAR I H T

BEAR I H T

213.40

14.60

228.00

153.90

153.90

BEAR I H T

888.00

33.00

534.90

1455.90

85.50

85.50

BEAR I H T

SR T

BRI R T

147.30

-13.81

133.49

104.10

104.10

AR T

410.90

24.00

407.20

842.10

46.80

46.80

BRI R T

AR T

BRI R T

271.40

19.80

291.20

14.40

14.40

SR T
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K - T £

At XK

% B @® ©) ©) @ &G @ ® &
By T - —
sy T 49.73 29.94 79.67 38.23 38.23
By T 431.44 6.33 82.46 520.23 33.50 33.50
sy T - —
FEBIAL Y T — —
FEBLAL Y T 6.26 0.73 6.99 7.98 7.98
FEBIAL Y T 27.14 0.59 9.41 37.14 1.44 1.44
FEBIAL Y T - —
AR PR AL PR 27.14 0.59 15.67 0.73 44.13 9.42 9.42
i JH i (1) 163.67 | -15.34 148.33 115.67 115.67
i JH i () 163.67 | -15.34 148.33 115.67 115.67
i ER ((ERS) | 456.56 | 26.67 | 452.44 935.67 52.00 52.00
BT LOE N () | 456.56  26.67 | 452.44 935.67 52.00 52.00
it A i (TR
it A i (1R 3%)

FEiA T (WEH) 456.56 | 26.67 | 616.11 | —15.34 1,084.00 167.67 167.67
A ERERGA L — —
AR E AT RSN T — -
T A T T — -
A ALy — _
1Ry T 1.60 1.60 0.26 0.26
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4 b ® @) ® @ i aE ©) @) ® @ HAMAEE
g b =— L%
figk L(AJD) 145.10 145.10 —
g b =— L%
figk L(AJD) 360.63 360.63 170.39 170.39
gt =— L%
figk L(AJD) 13.80 13.80 —
g b =— L%
figk L(AJD) 254.80 254.80 —
WEHE e =— L% 332.00 83.00 148.00 37.00
WEHE b =— L% 28.63 7.16 22.39 5.60

WE g e =— - -

WE g e =— - -

B e =— L 12.00 3.00 —
B e =— L 1.80 0.45 —
WEE(E=—1% | 248.00 62.00 —
gk =—1% | 6.80 1.70 -
U= VEFET 3 15 18 8 8
<~ R— LR FET 1 1 2 —
~ L R— LR FET 7 7 —
AR S — b 254.20 | 13.65 = 359.08 @ 144.95 771.88 169.67 169.67
W EERET - —
b FLfE T 42.45 25.44 67.89 32.18 32.18
b FLfE T 118.07 5.61 67.84 191.52 15.35 15.35
W EERET — —
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HAA

TR R R AR
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TR R R AR
B T

PR R R AR
B T

TR R R AR
B T

TR R R AR
B T

TR R R AR
B T

22.00

22.00

33.00

33.00

TR L R AR
B T

14.70

89.50

104.20

16.00

16.00

TR R R AR
BT

35.10

35.10

TR R R AR
BT

200.70

82.00

282.70

R AR RAR
X EE T

57.70

57.70

R AR RAR
R EET

T A RAR
R EET

TR A RAR
R EET

R A RAR
R EET

R A RAR
REE T

R 8 SR
R EE T

57.70

57.70

R4 8 SR
R EET

200.70

14.70

206.60

422.00

16.00

16.00

R 8 SR
BREE T
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111.00

111.00

ERR

146.0

146.00

51.00

51.00
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REET Ty 2 4 6 4 4
REET 2y 1 1 —
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[ERi A= — 1 1
[EL A= 2 2 4 -
EEET vy 1 1 —
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[EA=D4 — _
A - -
A= — 4 4
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9 A= 3 1 8 12 5 5
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~UAR—VE &L 1 1
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[E A= 300mm _
BEET oy 600mn 1 1
EEET 1y 900mm 1 1
EEET vy 1200mm _
il = 4 900mm 1 1
Wik 7 my 1200mm 1 1
L7 vy 1500mm 1 1
R T vy h=90mn 1 1 2
YAREIHS T L=1200mn 1 1
FARKHB T L=2100mn 1 1
HilfL T ¢ 100mm 1 1 2
Fll LT ¢ 150mm 2 2
JEHR T A IR—b DI _
JEHR T TR 1 1
JEH L. HEHET - A2/ 3—F 1 1
JNE{R7S
PADZ4i N 1. 5mBATF _
MNALEE
T ay St L 3. 0m2L T 1 1 2
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